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—F=F5sY 48,2403 = 53 * 1Y 2,557
— X E 48,240 * 20 « 1H 965
— @ E F Il 600,000& * 23] = 1H 1,200
— E2E3H| 48,2403 7L x 128 x1H 4,053
201 LEt2 Y| 24,500 4,260 20,240
01 AFR2t2ldl 11,500 1,260 10,240
OAsHE &2 =& Sl 1,500
OHsHEXNANYH 29 10,000
02 53294l 8,000 3,000 5,000
OgaZA=sHEXNIAHLE ESHOIX &4 3,000
OAsHEXNAANYH 29 5,000
03 S AIS H H 5,000 0 5,000
OHsHE 25 5,000,000& * 13 5,000
202 04| 4,000 1,000 3,000
01 2L Y] 4,000 1,000 3,000
OXsHE 43 &8& Y 4,000
301 dEtEAZ 102,000 50,000 52,000
09 HALAHIBEA = 2,000 0 2,000
OAsHEC 2tE3F 500,000& * 43| 2,000
M IIEtE A S 100,000 50,000 50,000
OAsAHES EEHXIA= 2,000,000& *x50= It 100,000
307 212t01 & 76,800 48,000 28,800
02 DI2ZtZ AAMEE X 76,800 48,000 28,800
O HsHE Sy SNA 45,000
O HAsHE WE=HEH N 3,000
OHsHE HEXNIFH &H
300,000 12 H & +8 SH 28,800
OHsHE 22012 XNSAY 0
401 Al HI L ROl 344,000 0 344,000
01 A& HI 344,000 0 344,000
OH=sHE TGHU 272 JI8tEd X3ALE
100,000,000 * 2JH 2 200,000
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000
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000
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Mo H

200,000
100,000
20,000
80,000

200,

000
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200,000

200,000
100,000
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80,000
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000
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115,000
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A 66,000

307 glztol &
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M

169,000

100,000
69,000
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000

89,000
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H

Xl

HJ

169,000
24,000
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145,000
85,000
60,000

80,

000

89,000
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165,000
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000

A 155,000
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165,000
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SN S
Hu: 59 & 225 A
el 4DAS SYNS TH (B9 ®R)
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
O sdA6R A XA 0
O=AS6XAFABIALSE XI& (H/W) 165,000
X 15,000
s 150,000
A= &2 HENE sSEAY 798,000 362,000 436,000
Xl 498,000
s 300,000
401 AIEHIZL 20HEI 798,000 0 798,000
Xl 498,000
[ia 300,000
01 A& Hl 798,000 0 798,000
OF=EE =22 HEoS |4HAY 798,000
Xl 498,000
[ia 300,000
HsAHEE LS =AAMS 90,700 105,000 A 14,300
Xl 42,316
e 48,384
307 glz2+0ol & 90,700 105,000 A 14,300
X 42,316
s 48,384
02 IZtE A AHEE 90,700 105,000 214,300
OA=sHE 43t XN 90,700
%l 42,316
[ia 48,384
SESMXA 28,000 0 28,000
2 9,000
< 10,000
[ia 9,000
307 21201 A 28,000 0 28,000
2 9,000
< 10,000
s 9,000
02 ItFAAFE R 28,000 0 28,000
OsE=HMAE 18,000,000& *1JH Ot = 18,000
= 9,000
e 9,000
OLEESs2AH & AHs X
10,000,000& *1JH Ot = 10,000
< 10,000
S=NsUs 5,000 0 5,000
< 5,000
307 gl2tol & 5,000 0 5,000
< 5,000
02 It M AHE X 5,000 0 5,000
OMs=sglslet &Mldle Msls HAsHE Y
g 5,000,000& =14l 5,000
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M =Y =& 243 ALY
& A40NA2 32nS =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 5,000
HMUOIS S| 375,000 0 375,000
=2 275,000
< 30,000
s 70,000
307 glz2tol & 125,000 0 125,000
= 25,000
< 30,000
s 70,000
02 It M AHE L 125,000 0 125,000
OMMOISetED| JI=CH XI&
5,000,000& 501 Ot = 25,000
S 10,000
s 15,000
OANZOS2SISUNEEEHIS 50,000
< 20,000
s 30,000
OMMOISEESI| At=2tel 50,000
= 25,000
s 25,000
402 QI2H X201 M 250,000 0 250,000
= 250,000
01 B2t AL E X 250,000 0 250,000
ONg2Z2eds2ZE0lexl 250,000
= 250,000
EXZH 0SS 157,000 0 157,000
Xl 110,000
s 47,000
402 RIZEX201 A 157,000 0 157,000
Xl 110,000
e 47,000
01 It 2 AL B X 157,000 0 157,000
OFXZFOSAUS)I XN (HAMHOS) 167,000
Xl 110,000
s 47,000
HE2IAZH (sZF ) 51,240 50,004 1,236
JlE&dl 51,240 50,004 1,236
sZEHW Jl=FHl 51,240 50,004 1,236
201 L2l 21,120 20,412 708
01 At 22l 21,120 20,412 708
OZ ol &t 16,896
OS el A0 at 4,224
202 o4dl 25,920 25,392 528
01 = LH o4 Hi 25,920 25,392 528
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